2005年全国攻读工商管理硕士学位研究生入学考试

英语考试模拟试题（4）

Section  I  Vocabulary
Directions:  There are 20 incomplete sentences in this section. For each sentence there are four choices marked A, B, C, and D. Choose the ONE that best completes the sentence and mark your answers on ANSWER SHEET 1   （10 points ）

1. The old man used to warn his children that ______ is a dangerous way of trying to make fortune.


A. inspection


B. retrospection

C. specification

D. speculation
2. She _____ that it was a trick to get her involved in the matter, for she knew them too well.

A. doubted 


B. suspected 

   C. conceived 

D. convinced

3. At opening of the century, with the exception of a crude plow, farmers could have carried _____ all of the existing agricultural implements on their backs.

A．practically 

B．virtuously 

C．eventually 

D．evenly

4. As regards the development of moral standards in the growing child, _____ is very important in parental teaching. To forbid a thing one day and excuse it the next is no foundation for morality.

A．persistence 

B．regularity 

C．consistency 

D．conformity

5. In this _______, some of the obligations of the prior contract were assigned to that company.

A. term



B. clause



C. subcontract 

D. contact

6. General Motors said Tuesday it has purchased a 20 percent _____ in Quantum Technologies, a California company specializing in producing components for fuel-cell cars.

A. broke



B. stake 



C. insurance


D. loan

7. China is ________ the world's largest Internet market, but so far Net companies aren't finding it profitable.


A. going to 


B. entering


C. potentially 


D. utterly

8. When I really _____ to take care of somebody, I usually do the job properly.

A. set out 


B. stand out


C. set off



D. set up 

9. If people praise them or thank them in an especially courteous way, they may become embarrassed and not know what to say ________.

A. with reply


B. in reply 


C. for reply


D. to answer

10. A question that health-conscious consumers may ask when buying produce is whether they are _____ pesticides.


A. short of


B. lacking


C. lack in



D. free of

11. They are going to have the serviceman ______ an electric fan in the office tomorrow.

A.  install          
B.  to install         C.  to be installed    D.  installed

12. Let's buy our tickets while I still have ______.

   
A. a little money to leave   



    B. little money left 

   
C. a few dollars left      



    D. few dollars to leave

13. I'm sure he is up to the job _______ he would give his mind to it.

A.  if only          B.  in case           C.  until            D.  unless

14. ______ he works hard, I don't mind when he finishes the experiment.

A.  As soon as       B.  As well as        C.  So far as       D.  So long as

15. One car went too fast and _____ missed hitting another car.

   
A. completely    

B. greatly    

 
C. narrowly    
 D. little

16. The car _______ halfway for no reason.

A.  broke off        B.  broke down       C.  broke up      D.  broke out

17. The newcomers found it impossible to _______ themselves to the climate sufficiently to make permanent homes in the new country.

A.  suit             B.  adapt            C.  regulate          D.  adopt
18. He was accused _____ stealing goods from the shop.

   
A. with   


B. in    



C. of    


D. at 

19. All the reference books should be made ______ to the teachers and students in our university.

   
A. concerned   

B. available  


C. related   

D. flexible

20. He never thought the committee would _______ his proposal.

   
A. put up   


B. object to  


C. pass on   

D. call on 
Section  II  Cloze
Directions: Read the following passage. For each numbered blank, there are four choices marked A, B, C, and D. Choose the best one and mark your answer on ANSWER SHEET 1.  ( 15 points )
There are far too many road accidents in this country, too many deaths and too many people injured. One wonders who are most to blame, drivers  21  pedestrians. Some people say _22  the blame cannot be put fairly without considering the state of the roads  23_ the whole transport system. In crowded cities _24_ London, Birmingham or Manchester, road conditions are so  25  that both driver and pedestrian often endanger lives through no fault of their own. Such deficiencies _26  too many road signs, faulty traffic lights, sudden narrowing of the streets, congested parking are all a sure indication of bad road conditions. On the other hand, many experts are  27  that the larger part of the blame _28  the death toll mustn' t be put on persons and persons alone. Drivers  29  drive too fast and without any consideration for other drivers who think they are safe at the wheel  30  they have drunk too much alcohol; drivers, who out of some curious sense of power, are  31  of understanding that their car is a lethal weapon if improperly used pedestrians, likewise, must share the guilt stepping off the pavement without first looking  32  the left or right crossing roads when the traffic lights are  33  them, jumping off a moving bus. To be fair, pedestrians, drivers and road conditions are all to  34  . One looks forward  35  the day when the motor car has been replaced by some less dangerous means of transport.

21. [A] or
[B] otherwise
[C] and 
          [D] as well

22. [A] which 
[B] where
[C] when 
[D] that

23. [A] between      [B] and
[C] for 
[D] from

24. [A] to 
[B] have        [C]like 
[D] at

25. [A] complicated   [B] restrained
[C] chaotic 
[D] cosmetic

26. [A] as  
[B] are
[C] of 
[D] for

27. [A] conceived
[B] convinced
[C] persuaded
[D] dissuaded

28. [A] for
[B] off
[C] on 
[D] about

29. [A] whose
[B] who
[C] whom 
[D] which

30. [A] as if

[B] despite
 [C] even though 
[D] as though

31. [A] incredible
[B] doubtful
[C] innovative 
[D] guilty

32. [A] at
[B] in
[C] for 
[D] to

33. [A] for
[B] on
[C] against
[D] at

34. [A] blame
[B] respond
[C] react 
[D] accuse

35. [A] to
[B] for
[C] at 
[D] into
Section  III  Reading Comprehension 

Directions: Read the following passages. Answer the questions below each passage by choosing A. B. C. or D. Mark your answers on ANSWER SHEET1.  ( 40 points )
Passage 1
    There are two basic ways to see growth: one as a product，the other as a process. Peop1e have generally viewed personal growth as an external result or product that can easily be identified and measured. The worker who gets a promotion， the student whose grades improve, the foreigner who learns a new language — all these are examples of people who have measurable results to show for their efforts.

    By contrast, the process of personal growth is much more difficult to determine, since by definition it is a journey and not the specific signposts or landmarks along the way. The process is not the road itse1f, but rather the attitudes and feelings people have, their caution or courage, as encounter new experiences and unexpected obstacles. In this process, the journey never ends; there are always new ways to experience the world, new ideas to try, new challenges to accept.

    In order to grow, to travel new roads, people need to have a wil1ingness to take risks, to confront the unknown, and to accept the possibility that they may “fail” at first. How we see ourselves as we try a new way of being is essential to our ability to grow. Do we perceive ourselves as quick and curious? If so, then we tend to take more chances and to be more chances and to be more open to unfamiliar experiences. Do we think we’re shy and indecisive(优柔寡断)? Then our sense of timidity can cause us to hesitate, to more slowly, and not to take a step until we know the ground is safe. Do we think we’re slow to adapt to change or that we’re not smart enough to cope with a new challenge? Then we are likely to take a more passive role or not try at all.

    These feelings of insecurity and self-doubt are both unavoidable and necessary if we are to change and grow. If we do not confront and overcome these internal fears and doubts, if we protect ourselves too much, then we cease to grow. We become trapped inside a shell of our own making.

36. A person is generally believed to achieve personal growth when ________ .

      [A] he has given up his smoking habit

      [B] he has made great efforts in his work

      [C] he is keen on learning anything new

      [D] he has tried to determine where he is on his journey

37. In the author’s eyes, one who views personal growth as a process would ________.

      [A] succeed in climbing up the social ladder

      [B] judge his ability to grow from his own achievements

      [C] face difficulties and take up challenges

      [D] aim high and reach his goal each time 

38. When the author says “a new way of  being”(ling 3, para.3), he is referring to ________. 

      [A] a new approach to experiencing the world

      [B] a new way of taking risks

      [C] a new method of perceiving ourselves

      [D] a new system of adapting to change         
39. For personal growth, the  author advocates all of the following except ________.

      [A] curiosity about more changes 

      [B] promptness in self-adaptation

      [C] open-mindedness to new experiences

[D] avoidance of internal fears and doubts

Passage 2

Well, no gain without pain, they say. But what about pain without gain? Everywhere you go in America, you hear tales of corporate revival. What is harder to establish is whether the productivity revolution that businessmen assume they are presiding over is for real.

The official statistics are mildly discouraging. They show that, if you lump manufacturing and services together, Productivity has grown on average by 1.2% since 1987. That is somewhat faster than the average during the previous decade. And since l99l, Productivity has increased by about 2% a year, which is more than twice the l978-87 average. The trouble is that part of the recent acceleration is due to the usual rebound（迅速反应） that occurs at this point in a business cycle, and so is not conclusive evidence of a revival in the underlying trend. There is, as Robert Rubin, the treasury secretary, says, a “disjunction”, between the mass of business anecdote (轶事，趣闻)that points to a leap in productivity and the picture ref1ected by the statistics.

Some of this can be easily explained. New ways of organizing the workplace―all that re-engineering and downsizing―are only one contribution to the overa1l productivity of an economy, which is driven by many other factors such as joint investment in equipment and machinery, new technology, and investment in education and training. Moreover, most of the changes that companies make are intended to keep them profitable, and this need not always mean increasing productivity: switching to new markets or improving quality can matter just as much.

Two other explanations are more speculative. First, some of the business restructuring of  recent years may have been ineptly done. Second, even if it was well done, it may have spread much less widely than people suppose.

Leonard Schlesinger, a Harvard academic and former chief executive of Au Bon Pain, a rapidly growing chain of bakery cafes, says that much “re-engineering” has been crude. In many cases, he believes, the loss of revenue has been greater than the reductions in cost. His colleague, Michael Beer, says that far too many companies have applied re-engineering in a mechanistic fashion, chopping out costs without giving sufficient thought to long-term profitability, EBDO’s Al Rosenshine is blunter. He dismisses a lot of the work of re-engineering consultants（顾问，专业咨询专家） as mere rubbish―“the worst sort of ambulance- chasing.”

40. According to the author, the American economic situation is ________ .

      [A] not as good as it seems

      [B] at its turning point

      [C] much better than it seems

      [D near to complete recovery

41. The official statistics on productivity growth ________.

      [A] exclude the usual rebound in a business cycle

      [B] fall short of businessmen’s anticipation

      [C] meet the expectation of business people

      [D] fail to reflect the true state of economy

42. The author raises the question “what about pain without gain?”, because ________.

      [A] he questions the truth of “no gain without pain”

      [B] he does not think the productivity revolution works

      [C] he wonders if the official statistics are misleading

      [D] he has conclusive evidence for the revival of businesses

43. Which of the following statements is NOT mentioned in the passage?

      [A] Radical reforms are essential for the increase of productivity.

      [B] New ways of organizing workplaces may help to increase productivity.

      [C] The reduction of costs is not a sure way to gain long-term profitability.

[D] The consultants are a bunch of good-for-nothings.

Passage 3

An invisible border divides those arguing for computers in the classroom on the behalf of students’ career prospects and those arguing for computers in the classroom for broader reasons of radical educational reform. Very few writers on the subject have explored this distinction―indeed, contradiction―which goes to the heart of what is wrong with the campaign to put computers in the classroom.

An education that aims at getting a student a certain kind of job is a technical education, justified for reasons radically different from why education is universally required by law. It is not simply to raise everyone’s job prospects that all children are legally required to attend school into their teens. Rather, we have a certain conception of the American citizen, a character who is incomplete if he m competently assess how his livelihood and happiness are affected by things outside of himself. But this was not always the case; before it was legally required for all children to attend school until a certain age, it was widely accepted that some were just not equipped by nature to pursue this kind of education. With optimism characteristic of all industrialized countries, we came to accept that everyone is fit to be educated. Computer-education advocates forsake（摒绝、遗弃） this optimistic notion for a pessimism that betrays their otherwise cheery outlook. Banking on the confusion between educational and vocational reasons for bringing computers into schools, computer-education advocates often emphasize the job prospects of graduates over their educational achievement.

There are some good arguments for a technical education given the right kind of student. Many European schools  introduced the concept of professional training early on in order to make sure children are properly equipped for the professions they want to join. It is, however, presumptuous to insist that there will only be so many jobs for so many scientists, so many businessmen, so many accountants. Besides, this is unlikely to produce the needed number of every kind of professiona1 in a country as large as ours and where the economy is spread over so many states and involves so many international corporations.

But, for a small group of students, professional training might be the way to go since well-developed skills, a1l other factors being equal, can be the difference between having a job and not. Of course, the basics of using any computer these days are very simple. It does not take a lifelong acquaintance to pick up various software programs. If one wanted to become a computer engineer, that is, of course, an entirely different story. Basic computer skills take―at the very longest―a couple of months to learn. In any case, basic computer skills are only complementary to the host of real skills that are necessary to becoming any kind of professional. It should be observed, of course, that no school, vocational or not, is helped by a confusion over its purpose.

44. The author thinks the present rush to put computers in the classroom is ________.

      [A] far-reaching

      [B] dubiously oriented

      [C] self-contradictory

      [D] radically reformatory

45. The belief that education is indispensable to all children ________.

      [A] is indicative of a pessimism in disguise

      [B] came into being along with the arrival of computers

      [C] is deeply rooted in the minds of computer-ed advocates

      [D] originated from the optimistic attitude of industrialized countries

46. It could be inferred from the passage that in the author’s country the European model   

      of professional training is ________.

      [A] dependent upon the starting age of candidates

      [B] worth trying in various social sections

      [C] of little practical value

      [D] attractive to every kind of professional

47. According to the author, basic computer skills should be ________.

      [A] included as an auxiliary course in school

      [B] highlighted in acquisition of professional qualifications

      [C] mastered through a life-long course

[D] equally emphasized by any school, vocational or otherwise

Passage 4
A history of long and effortless success can be dreadful handicap, but, if properly handled, it may become a driving force. When the United States entered just such a glowing period after the end of the Second World War, it had a market eight times larger than any competitor, giving its industries unparalleled economies of scale. Its scientists were the world’s best, its workers the most skilled. America and Americans were prosperous beyond the dreams of the Europeans and Asians whose economies the war had destroyed.

It was inevitable that this primacy should have narrowed as other countries grew richer. Just as inevitably, the retreat from predominance proved painful. By the mid-l980s Americans had found themselves at a loss over their fading industrial competitiveness. Some huge American industries, such as consumer electronics, had shrunk or vanished in the face of foreign competition. By 1987 there was only one American television maker left,  Zenith. ( Now there is none: Zenith was bought by South Korea’s LG Electronics in July. ) Foreign-made cars and textiles were sweeping into the domestic market. America’s machine-tool industry was on the ropes. For while it looked as though the making of semiconductors, which America had invented and which sat at the heart of the new computer age, was going to be the next casualty.

All of this caused a crisis of confidence. Americans stopped taking prosperity for granted. They began to believe that their way of doing business was failing, and that their incomes would therefore shortly begin to fall as well. The mid-l980s brought one inquiry after another into the causes of America’s industrial decline. Their sometimes sensational findings were filled with warnings about the growing competition from overseas. 

How things have changed! In l995 the United States can look back on five years of solid growth while Japan has been struggling. Few Americans attribute this solely to such obvious causes as a devalued dollar or the turning of the business cycle. Self-doubt yielded to blind pride. “American industry has changed its structure, has gone on a diet, has learnt to be more quick-witted,” according to Richard Cavanagh, executive dean of Harvard’s Kennedy School of Government. “It makes me proud to be an American just to see how our businesses are improving their productivity,” says Stephen Moore of the Cato Institute. , a think-tank in Washington, D.C. And William Sahlman of the Harvard Business School believes that people will look back on this period as “a golden age of business management in the United States”.

48. The U.S. achieved is predominance after World War II because ________.

      [A] it had made painstaking efforts towards this goal

      [B] its domestic market was eight times larger than before

      [C] the war had destroyed the economies of most potential competitors

      [D] the unparalleled size of its workforce had given an impetus to its economy

49. The loss of U.S. predominance in the world economy in the1980s is manifested in the  
      fact that the American ________.

      [A] TV industry had withdrawn to its domestic market

      [B] semiconductor industry had been taken over by foreign enterprises

      [C] machine-tool industry had collapsed after suicidal actions

      [D] auto industry had lost part of its domestic market

50. What can be inferred from the passage?

      [A] It is human nature to shift between self-doubt and blind pride.

      [B] Intense competition may contribute to economic progress.

      [C] The revival of the economy depends on international cooperation.

      [D] A long history of success may pave the way for further development.

51. The author seems to believe the revival of the U.S. economy in the l990s can be 
      attributed to the ________.
      [A] turning of the business cycle 
      [B] restructuring of industry 
      [C] improved business management 
[D] success in education

Passage 5
Aimlessness has hard1y been typical of the postwar Japan whose productivity and social harmony are the envy of the United States and Europe. But increasingly the Japanese are seeing a decline of the traditional work-moral values. Ten years ago young people were hardworking and saw their jobs as their primary reason for being, but now Japan has largely fulfilled is economic needs, and young people don’t know where they should go next,

The coming of age of the postwar baby boom and an entry of woman into the male-dominated job market have limited the opportunities of teen-agers who are already questioning the heavy personal sacrifices involved in climbing Japan’s rigid social ladder to good schools and jobs. In s recent survey, it was found that only 24.5 percent of Japanese students were fully satisfied with school life, compared with 67.2 percent of students in the United States. In addition, far more Japanese workers expressed dissatisfaction with their jobs than did their counterparts in the l0 other countries surveyed.

While often praised by foreigners for its emphasis on the basics, Japanese education tends to stress test taking and mechanical learning over creativity and self-expression. “Those things that do not show up in the test scores―personality, ability, courage or humanity―are completely ignored,” says Toshiki Kaifu, chairman of the ruling Liberal Democratic Party’s education committee. “Frustration against this kind of thing leads kids to drop out and run wild.” Last year Japan experienced 2,125 incidents of school violence, including 929 assaults on teachers. Aimd the outcry, many conservative(保守的). leaders are seeking a return to the prewar emphasis on moral education. Last year Mitsuo Setoyama, who was then education minister, raised eyebrows when he argued that liberal reforms introduced by the American occupation authorities after World War II had weakened the “Japanese morality of respect for parents.”

But that may have more to do with Japanese life-styles. “In Japan,” says educator Yoko Muro, “It’s never a question of whether you enjoy your job and your life, but only how much you can endure.” With economic growth has come centralization; fully 76 percent of Japan’s 1l9 million citizens live in cities where community and the extended family have been abandoned in favor of isolated, two-generation households. Urban Japanese have long endured lengthy commutes (travels to and from work) and crowded living conditions, but as the old group and family values weaken, the discomfort is beginning to tell. In the past decade，the Japanese divorce rate, while still well below that of the United States，has increased by more than 50 percent，and suicides have increased by nearly one-quarter.

52. In the Westerners’ eyes, the postwar Japan was ________.

      [A] under aimless development  
      [B] a positive example

      [C] a rival to the West   
      [D] on the decline

53. According to the author, what may chiefly be responsible for the moral decline of        

      Japanese society?

      [A] Women’s participation in social activities is limited.

      [B] More workers are dissatisfied with their jobs
      [C] Excessive emphasis has been placed on the basics

      [D] The life-style has been influenced by Western values

54. Which of the following is true according to the author？

      [A] Japanese education is praised for helping the young climb the social ladder.

      [B] Japanese education is characterized by mechanical learning as well as creativity.

      [C] More stress should be placed on the cultivation of creativity.
      [D] Dropping out leads to frustration against test taking.

55. The change in Japanese life-style is revealed in the fact that ________.
      [A] the young are less tolerant of discomforts in life

      [B] the divorce rate in Japan exceeds that in the U.S.

      [C] the Japanese endure more than ever before

      [D] the Japanese appreciate their present life
Section  IV  Translation
Directions: In this section there is a passage in English. Translate the five sentences underlined into Chinese and write your translation on ANSWER SHEET 2.    ( 15 points)
The standardized educational or psychological tests that are widely used to aid in selecting, classifying, assigning, or promoting students, employees, and military personnel have been the target of recent attacks on books, magazines, the daily press, and even in Congress. (56) The target is wrong, for in attacking the tests, critics divert attention from the fault that lies with ill-informed or incompetent users. The tests themselves are merely tools, with characteristics that can be measured with reasonable precision under specified conditions. Whether the results will be valuable, meaningless, or even misleading depends partly upon the tool itself but largely upon the user.

All informed predictions of future performance are based upon some knowledge of future performance are based upon some knowledge of relevant past performance: school grades, research productivity, sales records, or whatever is appropriate. (57) How well the predictions will  be validated by later performance depends upon the amount, reliability, and appropriateness of the information used and on the skill and wisdom with which it is always interpreted. Anyone who keeps careful score knows that the information available is always incomplete and that the predictions are always subject to error.

Standardized tests should be considered in this context. They provide a quick, objective method of getting some kinds of information about what a person learned, the skills he has developed, or the kind of person he is. The information so obtained has, qualitatively, the same advantages and shortcomings as other kinds of information. (58) Whether to use tests, other kinds of information, or both in a particular situation depends, therefore, upon the evidence from experience concerning comparative validity and upon such factors as cost and availability.

(59) In general, the tests work most effectively when the qualities to be measured can be most precisely defined and least effectively when what is to be measured or predicted can not be well defined. Properly used, they provide a rapid means of getting comparable information about many people, sometimes they identify students whose high potential has not been previously recognized, but there are many things they do not do. (60) For example, they do not compensate for gross social inequality, and thus do not tell how able an underprivileged youngster might have been had he grown up under more favorable circumstance.
Section  V   Writing

Directions:  In this section, you are required to write a composition entitled “Harmfulness of  Fake  Commodities” You should write more than 150 words neatly on ANSWER SHEET 2.  ( 20 points )
Outline: 1.目前社会上有不少假冒伪劣商品（fake commodities）。为什么会有这种现象？

举例说明假冒伪劣商品对消费者个人、社会等的危害。

